# TABULATION OF BIDS

Bid Schedule A

Project No.: VI NH 0A30(035) CONTRACT 5

Project Name: LONG BAY ROAD LANDSCAPING AND IRRIGATION

State: VI Opened at: St. Thomas, USVI
County: ST THOMAS By: Peggy Schaad
GOVT OF THE VIRGIN ISLANDS Date: 07/15/2011

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Peggy L. Schaad

Title: Contract Specialist Date: 7/15/11

Contract Awarded to: Plant Deport, Inc. Date: 8/23/11

Contractor	Bid Amount	Responsive
Plant Depot , Inc. # 26 Est. Charlotte Amalie Str St. Thomas, VI 00805	320,359.50	
Bryans Plants and Garden Supplies 7945 Estate Dorothea St. Thomas, VI 00802	( 346,675.00 )	No
CGN Engineering Corp. 130 Winston Churchill Avenue PMB 361 San Juan, PR 00926-6018	439,346.23	
F. J. Pereyo Enterprises, Inc. P. O. Box 6547 San Juan, PR 00914	( 449,999.00 )	No
Professional Design Builders dba: Custom Builders 4028 Anna's Retreat St. Thomas, VI 00802	496,025.00	
Engineer's Estimate	358,500.00	

#### TABULATION OF BIDS

Date: 07/15/11

Bid Schedule A

Project No.: VI NH 0A30(035) CONTRACT 5

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
Plant l	Deport , Inc.		ALL	48,000.00	48,000.00
Bryan	s Plants and Gard	len Supplies		19,000.00	19,000.00
CGN I	Engineering Corp	).		71,050.68	71,050.68
F. J. P	ereyo Enterprises	s, Inc.		37,000.00	37,000.00
Profes	sional Design Bu	ilders		50,000.00	50,000.00
ENGI	NEER'S ESTIMA	ATE		33,576.00	33,576.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
Plant l	Deport , Inc.		ALL	1,800.00	1,800.00
Bryan	s Plants and Gard	len Supplies		1,000.00	1,000.00
CGN I	Engineering Corp	).		12,596.45	12,596.45
F. J. P	ereyo Enterprises	s, Inc.		4,500.00	4,500.00
	sional Design Bu			5,000.00	5,000.00
ENGI	NEER'S ESTIMA	ATE		5,000.00	5,000.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
Plant l	Deport , Inc.		1,000	5.50	5,500.00
	s Plants and Gard	len Supplies	,	2.50	2,500.00
•	Engineering Corp	* *		2.73	2,730.00
	ereyo Enterprises			3.50	3,500.00
	sional Design Bu			6.00	6,000.00
	NEER'S ESTIMA			18.00	18,000.00
15706-1000	EACH	SOIL EROSION CONT BASIN FILTER	ROL, INLET PROTEC	TION , TEMPORARY	САТСН
Plant l	Deport, Inc.		6	400.00	2,400.00
	s Plants and Gard	len Supplies		250.00	1,500.00
-	Engineering Corp			350.46	2,102.76
	ereyo Enterprises			100.00	600.00
	sional Design Bu			600.00	3,600.00
	NEER'S ESTIMA			475.00	2,850.00
15706-1200	EACH	SOIL EROSION CONT	ROL, INLET PROTEC	TION TYPE B	
Plant l	Deport , Inc.		1	400.00	400.00
	s Plants and Gard	len Supplies		250.00	250.00
	Engineering Corp			350.46	350.46
	ereyo Enterprises			150.00	150.00
	-			600.00	600.00
Profes	sional Design Bu	inders		000.00	

#### TABULATION OF BIDS

Date: 07/15/11

Bid Schedule A

Project No.: VI NH 0A30(035) CONTRACT 5

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20103-0000	SQYD	CLEARING AND GRU	JBBING		
Pla	ant Deport, Inc.		2,100	6.08	12,768.00
	yans Plants and Garde	n Supplies		8.00	16,800.00
CC	N Engineering Corp.			5.99	12,579.00
F	J. Pereyo Enterprises,	Inc.		9.00	18,900.00
Pro	ofessional Design Bui	lders		7.00	14,700.00
EN	IGINEER'S ESTIMA	ГЕ		16.19	33,999.00
61110-1000	LPSM	IRRIGATION SYSTEM	M		
Pla	ant Deport, Inc.		ALL	47,000.00	47,000.00
	yans Plants and Garde	n Supplies		34,200.00	34,200.00
CC	N Engineering Corp.			38,697.14	38,697.14
F	J. Pereyo Enterprises,	Inc.		95,000.00	95,000.00
Pro	ofessional Design Bui	lders		80,400.00	80,400.00
EN	IGINEER'S ESTIMA	ГЕ		80,000.00	80,000.00
61501-0100	SQYD	SIDEWALK, CONCRI	ETE		
Pla	ant Deport, Inc.		10	300.00	3,000.00
	yans Plants and Garde	n Supplies		820.00	8,200.00
CC	N Engineering Corp.			217.14	2,171.40
F	J. Pereyo Enterprises,	Inc.		500.00	5,000.00
Pro	ofessional Design Bui	lders		1,000.00	10,000.00
EN	IGINEER'S ESTIMA	ГЕ		85.00	850.00
62516-2000	SQYD	MULCHING, HYDRA	ULIC METHOD		
Pla	ant Deport, Inc.		250	23.98	5,995.00
Br	yans Plants and Garde	n Supplies		12.00	3,000.00
CC	GN Engineering Corp.			8.09	2,022.50
F	J. Pereyo Enterprises,	Inc.		4.00	1,000.00
Pro	ofessional Design Bui	lders		9.60	2,400.00
EN	IGINEER'S ESTIMA	ГЕ		3.00	750.00
62632-0000	LPSM	PLANTINGS			
Pla	ant Deport, Inc.		ALL	117,950.00	117,950.00
	yans Plants and Garde	en Supplies		178,200.00	178,200.00
CC	N Engineering Corp.			186,816.69	186,816.69
F	J. Pereyo Enterprises,	Inc.		192,609.00	192,609.00
Pro	ofessional Design Bui	lders		222,000.00	222,000.00
EN	GINEER'S ESTIMA	ТЕ		101,400.00	101,400.00

#### TABULATION OF BIDS

Date: 07/15/11

Bid Schedule A

Project No.: VI NH 0A30(035) CONTRACT 5

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
62701-0000	SQYD	SOD			
Plant	Deport, Inc.		1,850	22.14	40,959.00
Bryan	ns Plants and Gard	len Supplies		18.00	33,300.00
CGN	Engineering Corp	).		24.18	44,733.00
F. J. 1	Pereyo Enterprises	s, Inc.		9.00	16,650.00
Profe	essional Design Bu	ilders		14.00	25,900.00
ENG	INEER'S ESTIMA	ATE		6.00	11,100.00
63502-0300	EACH	TEMPORARY TRAFF	IC CONTROL, ADVAN	ICE WARNING ARRO	OW PANEL,
Plant	Deport, Inc.		2	6,000.00	12,000.00
Brya	ns Plants and Gard	len Supplies		4,200.00	8,400.00
CGN	Engineering Corp	).		12,402.80	24,805.60
F. J.	Pereyo Enterprises	s, Inc.		5,000.00	10,000.00
Profe	essional Design Bu	ilders		10,000.00	20,000.00
ENG	INEER'S ESTIMA	ATE		4,650.00	9,300.00
63502-1300	EACH	TEMPORARY TRAFF	IC CONTROL, DRUM		
Plant	Deport, Inc.		50	128.00	6,400.00
Brya	ns Plants and Gard	len Supplies		100.00	5,000.00
	Engineering Corp			122.20	6,110.00
	Pereyo Enterprises			300.00	15,000.00
	essional Design Bu			300.00	15,000.00
ENG	INEER'S ESTIMA	ATE		295.00	14,750.00
63502-1700	EACH	TEMPORARY TRAFF	IC CONTROL, WARNI	NG LIGHT TYPE C	
	Deport, Inc.		12	175.00	2,100.00
=	ns Plants and Gard	= =		225.00	2,700.00
	Engineering Corp			89.85	1,078.20
	Pereyo Enterprises			220.00	2,640.00
	essional Design Bu			150.00	1,800.00
ENG	INEER'S ESTIMA	ATE		200.00	2,400.00
63503-1000	LNFT	TEMPORARY TRAFF		C FENCE	
	Deport, Inc.		925	3.50	3,237.50
=	ns Plants and Gard	= =		5.00	4,625.00
	Engineering Corp			2.81	2,599.25
	Pereyo Enterprises			16.00	14,800.00
	essional Design Bu			5.00	4,625.00
ENG	INEER'S ESTIMA	ATE		12.00	11,100.00

Date: 07/15/11

#### TABULATION OF BIDS

Bid Schedule A

Project No.: VI NH 0A30(035) CONTRACT 5

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63504-1000	SQFT	TEMPORARY TRAFFI	C CONTROL, CONST	RUCTION SIGN	
Plant D	Deport, Inc.		150	15.00	2,250.00
Bryans	Plants and Gard	den Supplies		40.00	6,000.00
CGN E	Engineering Corp	o.		73.62	11,043.00
F. J. Pe	ereyo Enterprises	s, Inc.		75.00	11,250.00
Profess	sional Design Bu	ilders		100.00	15,000.00
ENGIN	NEER'S ESTIMA	ATE		45.00	6,750.00
63701-0000	EACH	FIELD OFFICE			
Plant Γ	Deport, Inc.		1	7,000.00	7,000.00
Bryans	Plants and Gard	len Supplies		20,000.00	20,000.00
CGN F	Engineering Corp	).		11,141.98	11,141.98
F. J. Pe	ereyo Enterprises	s, Inc.		21,000.00	21,000.00
Profess	sional Design Bu	iilders		15,000.00	15,000.00
ENGIN	NEER'S ESTIMA	ATE		22,100.00	22,100.00
64502-0000	EACH	LOCATE UTILITIES			
Plant Γ	Deport, Inc.		4	400.00	1,600.00
	Plants and Gard	len Supplies		500.00	2,000.00
•	Engineering Corp	* *		1,679.53	6,718.12
F. J. Pe	ereyo Enterprises	s, Inc.		100.00	400.00
	sional Design Bu			1,000.00	4,000.00
ENGIN	NEER'S ESTIMA	ATE		900.00	3,600.00

#### TABULATION OF BIDS

Bid Schedule A

Project No.: VI NH 0A30(035) CONTRACT 5

Project Name: LONG BAY ROAD LANDSCAPING AND IRRIGATION

#### BID TOTAL CHECK PASS

Date: 07/15/11

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
Plant Deport , Inc.	320,359.50	320,359.50	
Bryans Plants and Garden Supplies	346,675.00	346,675.00	
CGN Engineering Corp.	439,350.46	439,346.23	***
F. J. Pereyo Enterprises, Inc.	449,999.00	449,999.00	
Professional Design Builders	496,025.00	496,025.00	

The apparent low bidder is 11 % below the engineer's estimate.

### TABULATION OF BIDS

Bid Schedule A

Project No.: VI NH 0A30(035) CONTRACT 5

Project Name: LONG BAY ROAD LANDSCAPING AND IRRIGATION

BID ITEM CHECK PASS

Date: 07/15/11

Bidder	Item No.	Bidder's Extension	Computed Extension
--------	----------	-----------------------	-----------------------

No extension errors in this Schedule.